
E
nglish

14 CX305AU

9. INSTALLATION / WIRE 
CONNECTION GUIDE

1) Before Starting

1.	�This set is exclusively for use with a negative 
ground 12 V power supply.

2.	Read these instructions carefully.
3.	�Be sure to disconnect the battery “terminal” before 

starting. This is to prevent short circuits during 
installation. (Figure 1)

2) Package Contents

3) General Cautions

1.	�Do not open the case. There are no 
user serviceable parts inside. If you 
drop anything into the unit during 

	� installation, consult your dealer or an 
authorized Clarion service center.

2.	�Use a soft, dry cloth to clean the case. 	
Never use a rough cloth, thinner, 
benzine, or alcohol etc. For tough dirt, 	
apply a little cold or warm water to a 
soft cloth and wipe off the dirt gently.

CONTENTS
1) Before Starting....................................................................... 15
2) Package Contents.................................................................. 15
3) General Cautions................................................................... 15
4) Cautions on Installation.......................................................... 15
5) Installing the Source Unit....................................................... 15
6) Wiring and Connections......................................................... 17
7) Connecting the accessories................................................... 17

Battery

Figure 1

Source unit................................................... 1
Trim ring....................................................... 1
Power supply cable...................................... 1
Owner’s manual........................................... 1
Screws M5x6 mm Double Sems.................. 8
Screws M5x6mm Flush mount..................... 8

4) Cautions on Installation

1.	� Prepare all articles necessary for 
installing the source unit before 
starting.

2.	� Install the unit within 30° of the 
horizontal plane. (Figure 2)

3.	� If you have to do any work on the car	
body, such as drilling holes, consult 
your car dealer beforehand.

4.	� Use the enclosed screws for 
installation. 

	� Using other screws can cause 
damage. 

	 (Figure 3)

5) Installing the Source Unit

Max 30˚

Chassis Chassis

Damage

Max. 6 mm (M5 screw)

Figure 2 Figure 3

1. Before installation, please make sure 
proper connections are conducted and 
the unit operates normally. Improper 
connection may result in  damage to the 
unit.

2. Use only accessories designed and 
manufactured for this unit and other 
unauthorized accessories may result in 
damage to the unit.

3. Before installation, please fasten all power 
cables.

4. DO NOT install the unit in the place where 
close to hot area to prevent damage to 
electrical components such as the laser 
head. 

5. Install the unit horizontally. Installing the 
unit more than 30 degree vertically may 
result in worse performance.

6. To prevent electric spark, connect the 
positive pole first and then the negative 
pole.

Unit Installation
1. When installing the main unit in NISSAN 

vehicles, use the parts attached to the unit 
(see “  NISSAN”). When installing the 
main unit in TOYOTA vehicles, use the 
parts attached to the vehicle 

	 (see “  TOYOTA”).
2. Wire as shown in “Wire Connection”.
3. Reassemble and secure the unit in the 

dashboard and set the face panel and 
center panel.



E
nglish

15CX305AU

6-Spacer (thickness: 1 mm)

8-Hexagonal screw (M5 × 6)

Center Panel *1

 NISSAN

 TOYOTA

6-Flat head screw (M5 × 6)
(attached to the main unit)

Mounting bracket 
(1 pair for the left and right sides)

Mounting bracket 
(1 pair for the left and right sides)

*2

NISSAN TOYOTA

Example 1-3

Cautions On Wiring
• 	 Be sure to turn the power off before wiring. Be particularly careful where you route the wires.
• 	 Keep them well away from the engine, and exhaust pipe, etc. Heat may damage the wires.
• 	 If the fuse should blow, check to see if the wiring is correct. If a fuse is blown, replace it with 

anew one of the same specification as the original.
• 	 To replace the fuse, remove the old fuse of the power supply cord and insert the new one.

Note:
• 	 There are various types of fuse holder. Do not let the battery side touch other metal parts.

• 	 After the connection, fix the cord by a clamp or insulation tape for protection.

Mounting Screw Holes (Side View of the Main Unit) Note:
	 *1 Some panel openings are too small for the unit depending on the vehicle type and model. 

In such a case, trim the upper and lower sides of the panel frame by about 0.5 to 1.5 mm so 
the unit can be inserted smoothly.

	 *2 If a hook on the installation bracket interferes with the unit, bend and flatten it with a nipper 
or similar tool.

 Vehicles other than NISSAN and TOYOTA
In some cases the center panel may require modification. (Trimming, filling, etc.)

 Typical Mounting Brackets
In some cases the center panel may require modification. (Trimming, filling, etc.)

Affix the screws to the  mark.

Fuse (15A FUSE)

Fuse holder

Screws marked  are icluded to the vehicle. 



E
nglish

16 CX305AU

16-Pin Connector Extension Lead
(attached to the source unit)

Brown wire (Phone mute lead)

Yellow wire (Memory back-up lead)

Red wire (Power lead)

Blue/White wire (Amplifier turn-on lead)

Black wire (Ground lead)

Orange/White wire (Illumination lead)

Blue wire (Auto antenna lead)

Connect to remote turn-on lead of amplifier

Connect to vehicle chassis ground

Connect it to the car power supply terminal 
for illumination

Connect it to the car power supply terminal 
for antenna

Connect to cellular phone mute lead.

Connect directly to battery

Accessory   12V

Front Right

Front Right

 Gray

 Gray

 White

 White

 Purple

 Purple

 Green

 Green

 Gray/Black

 Gray/Black

 White/Black

 White/Black

 Purple/Black

 Purple/Black

 Green/Black

 Green/Black

4-Speaker system

2-Speaker system

or

Rear Right

Rear Left

Not used.
Insulate each wire

Front Left

Front Left

 FUSE 15A

6) Wiring and Connections

7) Connecting the accessories

•	Connecting to the external amplifier
	 External amplifiers can be connected to the 4 channel RCA output connections. 	
	� Ensure that the connectors are not grounded or shorted to prevent damage to the 

unit.

(Red) Front Line out R
(Red) Rear Line out R /

Subwoofer output 2

Front Line out L (White)
Rear Line out L (White) / 
Subwoofer output 1

Refer to the rightSWC (Steering Wheel Control)

Bluetooth Microphone

M
IC

S
W

C

gray

black

Radio Antenna


	9. INSTALLATION / WIRE CONNECTION GUIDE

